Tuesday 31st of March 2020

Good morning folks,
Hope you were able to attempt at least some of Mondays work. Below is a list of work for Tuesday. This work is not designed to cause any stress at home so if there’s something you really can’t do and you’ve tried 3B4ME then move on and we can cover it when we are back in the classroom.
Take some time today to pray to your God that all our families keep safe during this time.
Have a good day guys,
Stay Safe
Mr. Culbert 

English
Exercise Your English pg 52 and 53. ‘The Wormy Spaghetti’ Read and answer questions.
Start a story plan for ‘The Flying Computer’ or whatever story you wish. Don’t forget a beginning, middle and end along with a problem that gets solved. 
Maths
Operation Maths pg 114 and 115
Mental Maths Week 33 Tuesday Test
Gaeilge
Beal Beo pg 17 
Geography
How chocolate is made. 
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[image: ]4. He has grey eyes. 
3. Do you have brown eyes?
2. She has green eyes. 
1. I have blue eyes. 
Me		you		he			she
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Find the missing factors.
7x x
x8=0

1 How much do these cost?
1 kids meal 0kids meals ()5 kid's meols
1 burger 0 burgers 9 burgers
1 drink 1 mikshake 0 milkshakes
6 milkshokes () 10 drinks 8 bags of chips

x(=36
The product is 36: what could the factors be?
What could you use to help you?
Is there more than one answer?
Find all the possible factors

How can you make sure that you have discovered oll
of the possible answers?

Multiplication properties

ot multplication is commutative ond distributve.
Revision

6x9=Gx6=5k 3 rows of 5 + 3 rows of 5 = b rows of 5

Bx5+Bx5=6x5

Multiplication is
distributives groups.

or arrays can be broken
down into smaller groups
or arrays and they

will stil totol the some
number.

Multiplcation is commutative,
50 you can swap the number and
il get the same answer. We can
also call these turnaround facts.

Wiitethe turnaround fact an find the answer fo each of these. @ s )
axio G 3x2 60 axt 3xt
6x8 3xb axs 3x5 6x10

Show these arrays using your 100 Dots she. Distribute the arroys into two
smaller groups, using a pencil to divide them. Complete the sentences

bx5=Bx5+Bx( ) = bx7=BxN+Bx )
@x8+@xB=bx = BxW+@x(D=bx
bxb=(Gx 6w (x ) 6x8=(5x8)+(1x

GxW+x[D=bxb GxD+Ax(D=bx7
Gx6=(10x6)~(1x6) Ax8=(10x8)~(1x8)
A0xD-(1xD=@xD A0xD-(1xN=@x7)

Solve these.
0x9= @x6)+(1x6)=10x 3x1-
bxi= bx x6 n 1x9-=
3x9=(]x3 6x0= 10x7=@xD+0x[)
3%0= Gx5+(x5=__x5 (0 3x10=10x
bx7=(]xb Ax5=x9 (@ bx7=BxN+Bx[)

Talk Time
Which of the calculations in Question 3 are examples of () the commutative
property () the distributive property (i) the identity property () the zero
property of multplication?

Wite two examples of each property in your copy,

Hint: you could use.
red ond green courters
o model he puzzl,

For PE, Morie loid out 18 cones in rows in the school yord.

How might she have placed them? Show four different

ways using pictures and multiplcation sentences [
Marie placed the cones 5o that some of the rows were

all green cones and the other rows were all red cones

Draw some of the diflerent ways that she might hove

done this. Use multplcation sentences to show the ‘
informaion.
-

("Here's one way she could have arranged them:

o

Edco Resources
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Pre-reading mMﬂnu Com'uh«nswn slrlugy Stanmng

Think, Pair, Share: Comprehension strategy - Synthesising

During reading: Comprehension strategy - Synthesising

) Many people love chocolate.
We use it to make hot chocolate

" drinks. It is also used to make bars, %
sweets and cakes. Chocolate comes
from the cacao or cocoa tree.
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Cocoa trees need a warm climate in order to
grow. These evergreen trees grow in the rainforests
of South America and on farms in Africa and other
warm countries. Nearly three quarters of the cocoa
beans used in making chocolate come from Africa.

The cocoa tree can grow up to 15 metres high.
White flowers grow on these trees. Small insects
called midges (flies) carry pollen (powder) from
flower to flower.

‘This helps spread the seeds. Brightly coloured
fruit, called pods, grow along the tree trunk and
branches. These pods can be red,
yellow, orange and green, when they
are ripe. These pods are shaped like
arugby ball. Inside these pods are
20-50 cocoa seeds or cocoa beans.

Step 1 — Harvesting

Ater six months of growing, the cocoa pods are ripe and
ready to be harvested. Harvesting happens twice a year.
Farmers cut these pods open using a large knife called

2 machete. The pods are placed in baskets. A skilled
worker can open up to 500 pods in one hour!

Step 2 — Fermentation
The cocoa beans are put into wooden containers to ferment. This means that the seeds
heat up in such a way that their look and flavour change. After about a week, the seeds
tum a rich dark brown colour and taste like bitter chocolate.
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Step 3 — Drying and shipping

The next step i to dry the fermented beans in the sun.
Once the beans are dried, they are put into sacks. The
sacks are taken to shipping centres and loaded on to
cargo ships. These ships deliver the sacks to the United
States or Europe. The beans are then poured into steel
trucks or railcars and brought to a chocolate maker.

Step 4 — Roasting
The chocolate maker roasts the beans in big ovens. This can take up to 2 hours. The
temperature at which they are roasted and the length of time they are roasted for s part

of the chocolate maker's secret!

Step 5 — Winnowing

The roasting process makes the cocoa bean shells brittle
{weak). The beans are put in a machine called a winnower.
‘This machine causes the beans to crack open. Fans blow
away the lighter shells, leaving behind pure cocoa known as
nibs. These nibs are sorted according to size.

Step 6 — Grinding
. g The nibs are brought to a mill and put into a grinder.
] ‘. . Athick paste called chocolate liguor is formed.
. Despite the name, there is no alcohol in this liquor. Some.
of the chocolate liquor is pressed to make cocoa buter or

TR oo poude.
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The rest of the chocolate liquor is added to condensed milk, sugar, cocoa butter and
flavourings. A machine mixes all these ingredients. After a few hours of mixing, it

becomes  brown dough called crumb.

|

4

Describe the process of making chocolate, from start to finish.

The crumb is placed in a conche.
This crumb is rolled many times
until it is smooth

The tasty chocolate is then
poured into moulds and left to
set. It is then put in packages
and sent to shops to be sold.
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© ALittle Light Thinking
What do cocoa beans need to grow?

What carries the pollen from flower to flower?

How many times a year does harvesting take place?
Why are cocoa beans put into wooden containers?
Explain what nibs are.

What is mixed with the chocolate liquor to make crumb?

eper Thinking
How do you think that the midges carry pollen from flower to flower?
Why do you think the workers cutting down the pods have to be skilled?
Why is the roasting of the beans a very important process?
Why do you think the chocolate crumb is placed in a conche?
What season do you think most chocolate s sold in Ireland? Why?

MruNR D eMrENE

What unusual ingredients could you add to chocolate
to create your own, new chocolate bar?

© Vocabulary Work
Rewrite the following sentences using words from the word box.

smooth  midges  United pollen  harvested  climate
containers  cocoa foasts  winnower nibs oven
1. Cocoa trees need a warm 1o grow.

2 smallinsectscalled —_carry__from flower to flower.
5. After sixmonths, the pods are ready tobe .

4. The cocoa beans are put into wooden  to ferment,

5 The ships deliver the sacks tothe __States or Europe.

4 The chocolate maker the beans in a big >

7. Amachine called a causes the beans to crack open,

5 Fans blow away the shells leaving behind pure cocoa known as

9. Chocolate liquor is pressedtomake —_ butter.

10, Aconche rolls the crumb until it is

180
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© Vocabulary Work: True or False
Write true or false after each statement (in your copybook).
1. Cocoa trees need a warm climate to grow.
After six months the cocoa beans are ready to be harvested.
Harvesting happens three times 2 year.
small insects carry the cocoa seeds from flower to flower
The beans are put on cargo ships to ferment,
The fermented beans are dried in the sun.
Pure cocoa is know as winnower.
The chocolate maker roasts the beans in big ovens.
The nibs are ground to make chocolate liquor.
10, The crumb s rolled many times by a mixer.

@ Grammar: Conjunctions

A conjunction joins short sentences together to make one longer sentence,
e.g. James got a chocolate cake because it was his birthday. The following are
conjunctions: but, so, because, although, until, or, after, before, and, with, yet.

cmNomsUN

Write these sentences in your copybook. Underline the conjunction in each.
1. After six months of growing, the cocoa pods are ripe and ready to be harvested.

It rolled many times until it s smooth

The chocolate is left to set before It is put in packages.

Charlie visited Mr Wonka's factory because he won the golden ticket.

“You can have an Aero bar or you can have a Crunchie; she said.

The chocolate is put in the grinder so that chocolate liquor is formed.

Iwanted a chocolate bar but my brother wanted crisps.

James had to wait until his birthday for his present.

Mary got 9 out of 10 in her test although she had not studied.

10, The chocolate s poured into moulds and left to set.

@ Extension Ideas
Use the library or internet to answer the following questions:
(a) write four facts about the history of chocolate. (b) Name four different types of
chocolate. () Name four different brands of chocolate.

© Writing Genre: Explanation Writing - See Portfolio Page 97 .?"""(6
Write an explanation for: How Honey is Made. k

PEmNemsuN
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Extract from The Twits by Roald Dahl

The next day, to pay Mr Twit back for the frog trick, Mrs Twit sneaked out
nto the garden and dug up some worms. She chose big long ones and put
them in a tin and carried the tin back to the house under her apron.

At one o'clock, she cooked spaghetti for lunch and she mixed the worms
in with the spaghett, but only on her husband's plate. The worms didn't
show because everything was covered with tomato sauce and sprinkied with
cheese.

"Hey, my spaghettis moving!” cried Mr Twit, poking around in it with his
fork.

“Its a new kind,” Mrs Twit said, taking a mouthiul from her own plate
which of course had no worms.

It called Squiggly Spaghet.
10 delicious. Eat it up while t's
nice and hot.”

Mr Twit started eating,
twisting the long tomato-
covered strings around his fork
and shovelling them into his
‘mouth. Soon there was tomato
sauce al over his hairy chin.

‘It not as good as the
ordinary kind,” he said, taking
with his mouth full. It too
squishy.”

“Ifind it very tasty,” Mrs Twit
said. She was watching him from
the other end of the table. It
gave her great pleasure to watch him eating worms.

I find it rather bitter,” Mr Twit aid. ‘I's got a distinctly bitter flavour. Buy.
the other kind next time.”

Mrs Twit waited until Mr Twit had eaten the whole plateful. Then she said,
“You want to know why your spaghetti was squishy?

Mr Twit wiped the tomato sauce from his beard with a comer of the
tablecloth. ‘Why?" he said.

“And why it has a nasty bitter taste?”

Why?” he said.

“Because it was worms»” cried Mrs Twit, clapping her hands and stamping
her feet on the floor and rocking with horrible laughter.

T
@ 1 Why did Mrs Twit dig up the worms?

2 What kind of worms did she choose?
3 How did Mrs Twit carry the worms back o the house?
4 At what time did she start cooking lunch?

5 Why did Mr Twit not noice the worms?.

6 What did Mr Twit think of hs spaghetti?

7 Did Mrs Twit enjoy watching Mr Twit eat the worms?
8 When did Mrs Twit tell Mr Twit the truth?

c 1 What frog trick, do you think, did Mr Twit play on Mrs Twit?

0

2 Find examples in the story to show that Mr Twit did not have good
3 How may Mr Twit have felt when he heard the truth?

4 Do you think that they had a good relationship? Explain.

5 What kind of person was Mrs Twit?

6 Did you enjoy this story? Give reasons for your answer.

7 Write a paragraph about what you think will happen next.

8 Can you think of another name for this extract?

‘Write these sentences in the correct order.
Mrs Twit waited until Mr Twit had eaten al of his spaghetti
Mr Twit shovelled the food into his mouth,
Mrs Twit dug up some worms.
There was tomato sauce all over his chin.
She told Mr Twit about the wormy spaghett
She mixed the worms in with the spaghetti

Find a word in the text with a similar meaning.
prodding tasty
normal happiness
sour dreadful

Use your dictionary to find the meanings of these words.
Put them into interesting sentences.
(@) sneaked (6) sprinkied (c) poking (d) delicious (e) cistinctly (1) squishy.
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